
https://www.leads4pass.com/1z0-479.html
2024 Latest leads4pass 1Z0-479 PDF and VCE dumps Download

 

 

 

1Z0-479Q&As

Oracle Access Management Suite Plus 11g Essentials

Pass Oracle 1Z0-479 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/1z0-479.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-479 VCE Dumps | 1Z0-479 Exam Questions | 1Z0-479 Braindumps                                1 / 6

https://www.leads4pass.com/1z0-479.html
https://www.leads4pass.com/1z0-479.html
https://www.leads4pass.com/1z0-479.html


https://www.leads4pass.com/1z0-479.html
2024 Latest leads4pass 1Z0-479 PDF and VCE dumps Download

QUESTION 1

What would you need to configure to use Oracle Adaptive Access Manager (OAAM) along with Mobile Single Sign-On,
by using Oracle Access Management Mobile services? 

A. An appropriate security handler plug-in name needs to be configured for the Mobile Service domain to use OAAM. 

B. An authentication scheme needs to be configured for the Mobile Service domain to reflect OAAM use. 

C. A separate application profile needs to be created for OAAM. 

D. The Mobile Service domain needs to specify a configuration for OAAM. 

Correct Answer: B 

 

QUESTION 2

Which service does the Session Management Engine (SME) use internally to provide a high performance, distributed
caching system, and to enable the monitoring and management of user sessions in real time? 

A. Oracle ADF 

B. Oracle Coherence 

C. WebGates 

D. Oracle Adaptive Access Manager 

Correct Answer: B 

 

QUESTION 3

Which two cookies are created whenyouin to Oracle Access Manager 11g with 11g WebGates? 

A. ObSSOCookie 

B. OAM_ID 

C. OAM_AuthnCookie 

D. OAM_AuthzCookie 

E. WL_AUTHCOOKIE_JSESSIONID 

Correct Answer: BC 

 

QUESTION 4

Which two features of Oracle Access Management Mobile and Social are supported only when it is integrated with
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Oracle Adaptive Access Manager? 

A. multi-step authentication (knowledge-based authentication and one-time password support) 

B. JWT token support for authentication and authorization 

C. ability to uniquely identify connecting mobile devices (device fingerprinting) 

D. relying party support for Internet-based Identity Provides (Facebook, Google, Twitter, LinkedIn, and Yahoo) 

E. basic (limited) device security checks during device registration and access requests 

Correct Answer: AC 

 

QUESTION 5

You have configured a new pattern in Oracle Adaptive Access Manager (OAAM) to capture login times of devices. Your
customer wants to ensure that devices that are used outside their normal times are blocked. 

After creating your pattern, which two additional steps must you perform to configure OAAM to meet this requirement? 

A. Create a transaction definition for the pattern. 

B. Create a new rule in an existing policy that contains an appropriate condition to evaluate your new pattern. 

C. Linkyour chosen policy to the appropriate user groups. 

D. Configure a block action for your new rule. 

E. Restart the OAAM Managed Server for the pattern to take effect. 

Correct Answer: AE 

 

QUESTION 6

In Security Token Service, what is the prerequisite when managing a Token Issuance Template? (Choose the best
answer.) 

A. Confirm whether the desired LDAP Identity Store is registered with and configured as the Default Store. 

B. A WebGatemust be registered with Oracle Identity Federation. 

C. The WSS Validation Template must be configured to accept only X.509 certificates. 

D. SAML tokens must be present in the SOAP header. 

Correct Answer: D 

 

QUESTION 7

Identity two settings that are available from the common settings for a session in Oracle Access Manager system
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configuration. 

A. Session Lifetime 

B. Minimum Number of Sessions per User 

C. Maximum Number of Sessions per User 

D. Session Cache Memory size 

E. Session Security Protocol 

Correct Answer: AC 

 

QUESTION 8

Which statement is true about the Detached Credentials Collector (DCC) used in Oracle Access Manager? 

A. It is the default credentials collector for Oracle Access Manager 11gR1. 

B. It is the default credentials collector for Oracle Access Manager 11gR2. 

C. It is supported only by OracleAccess Manager 11gR1. 

D. It is supported only by Oracle Access Manager 11gR2. 

Correct Answer: D 

 

QUESTION 9

When managing Token Issuance conditions and rules in Security Token Service, who is granted access to a requested
resource through the Allow type rule? 

A. Only partners are granted access; everyone else is denied access to the resource. 

B. Only the partners and users listed in a condition are granted access; everyone else is denied access to the resource. 

C. Users listed in a condition are granted access; everyone else is denied access to the resource. 

D. Only Relying Party Partners are granted access; everyone else is denied access to the resource. 

Correct Answer: B 

 

QUESTION 10

What value will you define in the Oracle Access Manager resource URL field to allow access to an application under the
context root /procurement? 

A. /procurement 

B. /procurement/* 

1Z0-479 VCE Dumps | 1Z0-479 Exam Questions | 1Z0-479 Braindumps                                4 / 6

https://www.leads4pass.com/1z0-479.html
https://www.leads4pass.com/1z0-479.html
https://www.leads4pass.com/1z0-479.html


https://www.leads4pass.com/1z0-479.html
2024 Latest leads4pass 1Z0-479 PDF and VCE dumps Download

C. /procurement/... 

D. /procurement/.../* 

Correct Answer: A 

 

QUESTION 11

What is the role of a user data store in Oracle Identity Federation (OIF) 11g when it is configured as an Identity Provider
(IdP)? (Choose the best answer.) 

A. Oracle Identity Federation uses the repository to map the information in received assertions to user identities at the
destination. 

B. When creating a new federation, Oracle Identity Federation uses the repository to identify a user and link the new
federation tothat user\\'s account. 

C. Oracle Identity Federation uses the repository to authorize users for access to protected resources. 

D. Oracle Identity Federation uses therepository to verify user identities and to build protocol assertions. 

Correct Answer: B 

 

QUESTION 12

Identify two protocols that the Oracle Access Management Social module supports for Authentication and Authorization
using Internet Identity services. (Choose two.) 

A. OpenID 

B. WebID 

C. BrowserID 

D. Windows Live ID 

E. OAuth 

Correct Answer: AE 

 

QUESTION 13

Identify two registration artifacts that are created when an 11g WebGate is registered using the Oracle Access
Management console. 

A. osso.conf 

B. oaam_cli.properties 

C. OAMRequest_short.xml 
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D. ObAccessClient.xml 

E. cwallet.sso 

Correct Answer: DE 

 

QUESTION 14

Which statement is true about moving Oracle Access Management Mobile and Social from a test environment to a
production environment? 

A. A new application profile needs to be created always for Internet Identity Services. 

B. The ChallengeRedirect URL in authentication schemes needs to be updated. 

C. Thecwallet.ssofile needs to be edited for the production host. 

D. Themerge-creds.xmlfile needs to be created on the production host. 

Correct Answer: B 

 

QUESTION 15

Identify two functions of the heartbeat check performed by Oracle Access Manager Access Servers. 

A. It checks if an LDAP store can be accessed. 

B. It check if a WebGate can beaccessed. 

C. It check if a session cache store can be accessed. 

D. It check if a policy store can be accessed. 

E. It check if a database can be accessed. 

Correct Answer: AD 
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